5X THE CASH

PA-5009 ON SALE NOW

n_=

(Bl MATCH THE WINNING SYMBOLS TO THE SYMBOLS __J
E IN EACH GRID. MATCH ALL FOUR SYMBOLS IN ANY

HORIZONTAL LINE, WIN PRIZE SHOWN FOR THAT LINE.
A CHANCES ARE CONSOLIDATED

WIN WITH: WIN: 1IN: CHANCES ARE 1 IN:
S I 55 8.00 55 8.00
E $5x2 S10 28.57

$10 $10 28.57 $10=14.29
[l $10x2 $20 90.91

($5x2)+$10 $20 90.91
0 $20 $20 90.91 $20 = 30.30
s ($5 x 3)+$10 $25 1,000

$5w/ 5X $25 333.33
T $25 $25 1,000 $25 = 200.00

$20 x 2 $40 2,000
P ($5 x 2) + $20 + $10 $40 2,000
(R (510x2) +5$20 $40 1,000

(S5 w/ 5X) + ($5 x 3) $40 333.33
E $40 $40 1,000 $40 = 166.67
|| s25x2 $50 1,000

($10 x 3) + $20 $50 2,000
S ($5w/ 5X) x 2 $50 666.67
[ S10w/5X $50 333.33

$50 $50 1,000 $50 = 142.86
"l $50x2 $100 2,400

(520 x 3) + (510 x 3) + ($5 x 2) $100 2,400
0 ($20 x 3) + $40 $100 2,400
CJ (S5 w/5X) x3) +$25 $100 800.00

($10 w/ 5X) x 2 $100 2,400
T $20 w/ 5X $100 2,400

$100 $100 4,800 $100 = 282.35
P (($20 w/ 5X) x 2) + ($100 x 2) + ($25 x 4)  $500 6,000
[ (550 w/ 5X)x 2 $500 6,000

$100 w/ 5X $500 8,000
E $500 $500 24,000 $500 = 2,000
|| $500x2 $1,000 24,000

($100 w/ 5X) x 2 $1,000 24,000
) $1,000 $1,000 24,000 $1,000 = 8,000
[Jl (5500 w/ 5X) +($1,000 x 2) + $500 $5,000 960,000

$1,000 w/ 5X $5,000 960,000
"l $5,000 $5,000 960,000 $5,000 = 320,000
0 $50,000 $50,000 480,000 $50,000 = 430,000
S GET A “§)” SYMBOL IN ANY WINNING HORIZONTAL OVERALL CHANCES

LINE, WIN 5 TIMES THE PRIZE SHOWN FOR THAT LINE. OF WINNING: 1 in 4.00
T EACH LINE IS PLAYED SEPARATELY. Prizes, including top prizes, are subject fo

availability at the time of purchase.




